AUC PreCalculus

Assignment 20.

The deadline for all homework assignments is the one specified in Archie before 11:59 pm.
As discussed in class, It must be correctly uploaded in order to be graded. Show all your

work and justifications.

For Exercises 31-50, solve the equation.

3. V2x —4 =6

34. V2n + 29+ 3 =n

37. Voy—3—-V2y + 1 =0 l
40. Vd +4 — V6 + 2d = —1
43. a. m‘:“"f" = § b. Jﬁm =9
46. 4(y — 3" =20

49. (2v + 'P — (v — 3)'P =0
33. Vim+ 18 + 2 =m

36. —3Vax — 1 +2 =8
39.V8—p—-—Vp+5=1

42.
45.

48.

Vk—2=V2k+3 -2
3(t + 2)°° = 21
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V3 + 1 =11

. —4V2x=5+6=10
N+ T - ViAy+5=0
3-Vy+3=V2-y
ca. =3 b. n*° =3

s | |
2t =
P =3

. (5u—6)° = Bu+ D= (]



